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Question Shuffling Allowed : Yes
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Probability sampling is otherwise called :

T 9iaeel &l AT ol 2

Options:
Multiple choice

% qgfdhcdly =g

Uni-variate _.i"uml}'s.iz

THI-af¥ue fageram
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A Research Report is a formal statementof .............___.

TH I RO ., T Teh UG (G0N0 B |
Options:

Rezearch Process

| AT Uiha

Research Problem

5 # STAE A

Data collection

3. % :H.I-"]"El '\_:l.__.]. EI:I



Data Editing

4 W \_.E L' '\_;ié-é.:"
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is not covered under Intellectual Property Rights ?

fa=fafiaa § 9 & difge duer AfTent & Iiaid Jafamar g ?
Options:
Copvrights

;. & PIURIEC

Patents

> % dcc

Trademarks

r

o W 5:1‘5 [

Thesaurus

. forefey
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A bar chart or graph which shows the frequency of occurrence of each value of
the variable which is being analysed is termed as :

T TIT‘r AT UTH Wl IN o Ul HIF hi U & Dl Erll"ﬂl"‘l G CEEI] Er SEED
a9yl fohd _"IT?TE'TE’ Pl HEl I ?T.
Options:

Bar chart

| % W9 AT & w9 H

Histogram
5 Hifeirias & wU H

Candle stick
3 % Do Ne® & w0 4



Tabulation
4% R & w9 H
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The depth of research can be judged by :
Tl W1 TExTs H1 SEToll SHY ST ofl Gehal @

Options:
Title of the research work

% UE B B NS

Objective of research

o o T @ T

Total expenditure of research
- x I BT B T

Duration of research

4 % T @I 3@ty
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The mean of a set scores is 50 and standard dewviation is 10. If the score of each

student is doubled the new median will be -

=T AHI B AeF 50 8 AT AFF FEed 10 £ 1 AT USE B B APl B Gl
& {591 oirg, 93 AT

Options:
Remain unchanged

| RS v

Increase by double
2. '\‘?’? E: g—l_l—ér E"\-ljﬁ

Decrease by half
5 % T HH BFA



Become equal to the mean

4 % T F AER EE
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is net a type ot research question ?
=1 § 9§ B U U2 &1 UBN T8l 7

Options:
Predicting an outcome

% ORUTH @1 Afasgari

Evaluating a phenomenon

o % Tl B Hegldh

Developing good practice

5 % IS URAT BT IG1I

A hvpothesis
4 TP TRHTA
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

All of the following are types of non-probability sampling techniques except :
e # 9 9 IN-uifiredr ufaeel daqle @ JaN & g9

Options:
Purp os1ve samp ling

| w AT AfaSE ®

Snowball sampling

o % VATl gfee @

Convenience Eampli:ng

5 % giaar ufoee &



Random Eamp]_mg

4. diglzgdy Mldg=l @
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
To test null hypothesis, a researcher does nof use :
T YRNEHT & WAV HRA 8g SJEaHdHal 7 § 9 fhesr 9ar 98 s 8 ?
Options:
Chi-square test

s DTS-I TRIETTT

1.

t-test
o % CIOVIE

ANOVA
3 % T

Factorial analysis

4 AT fagero]
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uestion Label - Multiple Choice Cuestion

P-alue stands for -

Tlo Ho& &1 AU 2

Options:
Probability value

1.Jmﬁﬂww

Preference value

E_Qaﬂ?ﬁﬂﬂw

Pre-determined value

_ Ja-T-i¥aa 7Jed



Prescribed value

L% BENECE &
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In the process of conducting research "Formulation of Hypothesis” is followed
by :
FTHET B DI UlhAT H “URSBTAT & AP & g a1 HIar B :

Options:
Statement of Objectives

| w 9aazdl T faaee
Analysis of Data
o w dids BT fwer

Selection of Research Tools

o o ATHET AEET BT T8

Collection of Data

, & SNPS T HIE
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Longitudinal studies of cohort groups .........._. ]
S TRl BT AFas AT €

Options:
Study the same people over time

| % BY FHI W Uh B AN BT T

Use panel members as particip ants

o x AFER & W0 § U Haei &1 STar

Study attitudes at a single point in time

3 % TP I W GCHIT B Fena




Use different participants for each sequenced measurement

L  TI® STHHAT AT 7 A= AFERT B ST
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A deductive theory is one that :

! - [ i

e g ©

Options:
Allows theory to emerge out of the data
| % Sl RIgid & Siids A o~ 8 o @

Involves testing an explicitly defined hypothesis

o o TSTH RO AT GRAITT IRGCIT BT TR Wi 8

Allows for findings to feed back into the stock of knowledge
5 % [OTIPT SETY g §M & H9g H ufayfic &g ey g

Uses qualitative methods whenever possible
4 % Ol ofd 01 9T B [UIAS TGd BT HANT Bl ©
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Meta data is the data that :
ATl ST 98 SIeT & ol

Options:
Distribute other data

% o4 SICT &l dicdl 8

1

Collect other data
5 % I STCT BT THT BT

Describes the other data
5 « SICT &I Fadr &

Destroy the data
4 % SICI @ & Sl 8
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

FEandomization iz done to :
i Sh
ATGEFHIHIVT Bl ATl 2

Options:
Increase bias

| % IFART B1 9@ & ferg

Reduce bias

o  SAAT @ HH B T ferg

For making hypothesis

3 % UREAT TR & oy

To increase drug efficacy

4 % S e B S & fov
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Data is represented in form of notes, recordings and video tapes in :

ATpel I Alc, ¥PHIeT Ud difedicd & w9 § fAwud f&ear o g

Options:
Qualitative Research

| o TS IFTHE H

Quantitative Research

o s WRATIIES JTHE H

Experimental Research

5 % TARTICHG e H

Descriptive Resea rch

4 % dUHTCH® SFTHET H
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



Grounded theory is often used in formulation of :
qTSSS LRI & G4 gfaured H agen fhan wrdn 2
Options:

Policies and Programme evaluation research

| o N Ud BRISH Jedih STJHaH &

Opportunity for exploring the facts

o % T BT UAT T TG JTH S

Categorizing data

o R

Understanding the culture

4_%% P GHSH B
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Read the statement A and B and choose the correct option :

BT $ Td G BT Iy 7241 el fabeq gy

Statement A : Variables can be manipulated, controlled or observed by the
experimenter.

FYT F : TN DI TAFTHGT 59T B H amEn, FEEa o sadifead fRar 9 9dar 2 |

Statement B : Variables are not related to theoretical concepts.
HYT | : W AGIAd Faurons | Hafed Tl €|
Options:

Both the statements are true

, % T I TG €

Statement A is true but B is false
o  PIT B T ¢ fbeg P & 9T 2

Both the statements are false

o % G DU IEA T

Statement A is false but B is true

4 % DIT B GG ¢ fbg HUH G A 2
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not a category of legal research ?
Tfaad # HE-A1 AfdE o 3 G0 # A% A 57

Options:
a parasitic discipline of law
| o TEEE T @ ET A

a practical discipline of law
o % AN 9 T =T H

an aspect of the humanities
¢ HFEEH] & U U b =9 H

=

an aspect of social sciences
4% HHIE 95 & 95 & =9 H
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rejection of null hypothesis when it is true is called :
9 B8 ®i [Refa ¥ 990 dN&Gog=T &l 3 -:_F»r’;d T FHEAal & 7

Options:
Type Il error

, % c8u IMFfe

Type Ierror
o o C -qE - Ia—ﬁr

Sampling error

.y TR 3

Standard error

4 % AF® e
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



In a research study one of the variables selected was (students’) parents’
occupation such as business, farming, service etc. What level of measurement is
this ?

"HTHI HEIE H FAMG U 9 J1a1-0dT $1 dErd oY IR, Wdl, 9al gy |

Options:
Nominal

T

T

"

Ordinal
2. W a ] H Qﬂ- a ':-] ]

Interval

H-aO¥l ¢
o R

Ratio
4 % I3
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is standard error ?
Options:

Standard deviation of the sampling distribution of a statistic
. A=y & giaeyl g & J1d a9

Modal error value of the standard range of a statistic
5 % WIRGHT & JH® 4ol & HJisd Jic A

Error in the calculation of standard deviation of a statistic
o x QO™ @ A e @ T H Ffe

Standardized statistic to minimize error

4 % 3C PP I & [0 ADIFT HiDEI



Question Number : 23 Question Id : 7622116623 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is helptul in determining sample size ?
UfASel TR & MR & § 94 ¥ 9 &4 9896 & 7

Options:
Ruszell 2000 index
| w <H 2000 FABID
Cochran's formula
HIhv &I -9
o o

Tussad's formula

o x Qg @

Spearman's formula
4 % TIHT w1

Question Number : 24 Question Id : 7622116624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is not true about the case study method ?
‘FTH AFEE A AR H Ffanad # " #9998 57
Options:

It is an expensive method of research

There are many chances of making errors

fe 8M & 9gd d49/EA1 =2l B

=]
-

[t is mainly qualitative in nature
% 5 FEATAT OHE BT B

It is quantitative in nature

4Ju:mm—qtrnrumml 5
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Read statement A and B and Choose the correct option :

BT & Ud @ BT UgU TUT Wel fadded &1 FA1d PIfeIT :

Statement A : The Latin square design has an advantage over randomized block
design because it is possible to control the effects of two secondary variables.

YT & : olfcd EEER fSuE agfes o fsusd 9 s ameEds & @il
Tg g1 T =R F UHE BT EEd $ H W 2

Statement B : A 2 x 2 x 2 factorial design has six independent variables.
YT G : U 2x 2 x 2 HHMG feus- 4 B8 Wad =@ 8 2 |

Options:
Both A and B are true

lgmqﬁaaﬁrw%

A is true and B is false
5 @ P AT T A W FEA T

Both A and B are false
5 % & Ud & Al o ©

A is false but B is true
4 % P I € AP @ WA @
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple CThoice Cuestion
A researcher is invstigating teacher's attitude towards year-round schooling. She

is particularly interested in describing the attitude of teachers from small,
medium, and large schools. Which sampling procedure should be used by her to
ensure her sample is representative of these types of schools ?
U AJHUMEHT g4 WY el @& Ul HeATUS & AAgRT Bl AU HR I8 2| 98
B, T dAT g5 Wholl H el © AAgRy & < § 99w &y ¥ foo=al o
el gfcifeeg & HJd ?
Options:

Cluster

1 % qE

Quota
2 % ®IC



Systematic

3 % \‘\_.- Ol ¢

Stratified
4 v WG
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following tvpe of research focuses on amending the prevailing
situations ?

=1 9 9 {59 IR &1 FgHu A RIfadr o1 Gune iR Saiad e g 7
Options:

Action research
| o SPATAE STFxEr

Experimental research
o % WATTICHE e

Fundamental research

= ® ﬂ: 1:" EHTTETH

Conclusive research

, x (ORI ST
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If there are eight categories or classes in a goodness of fit test, what will be the
degree of freedom ?

i [e9 A e <% d e &l O & €, a1 W=y ®ifc @1 B8R 2

Options:

1.*8

7

e



Cannot tell on the basis of the information given
4 % &8 T FHGR & AER O 94197 e S qehal g
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Qualitative research helps in collecting data under more ..........._. situations.

qUITCHS STJHE b fRerferal 3 Siferel Uiz R H Weradl &Yl ¢ |

Options:
Normal

1. % Lo

Natural

5 -\‘;,’? ﬂ E]:S E‘_ 'E:I:S

Experimental
5 % HANTTA®

Artificial
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Read statement A and B and choose the correct option :

YT B Ud @ F IigU TAUT Wl faded vy

Statement A : A case study can be used only in clinical psychology.
YT B : 71 AT (BH ITSI) BT WA hael faer-iad AT H fHar &1 |l
=4

Statement B : The approach of case study is based on the artificial atmosphere.
YT G : g1 AT (W ¥CSl) B glehv HiEH JRe IR A= 2 |
Options:
Both A and B are true
, % U @ EH U

Statement A is true and but B is false

o % DY P U B b O HEA &




Both A and B are false

Statement A is false but B is true
4 % BT P A ¢ olfh] & §F ©
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which tvpe of research focus on what will be ?

fehe UehTY 1 STTHI &1 BT R BIdd Hecl 8 7

Options:
Experimental

1, o TS

Case study

, % 99 A (P ITH)

Survey

5 % Hae

Ex-post facto
4 % q9 T
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following should be up to date, complete and affordable for proper

sampling ?

=1 3 9§ ®F Sfag dfaey 2q sterdd, QUi 91 §9a 2 =@1iey ?
Options:
Sampling technique

| x TRE" TE

Sample frame

2_‘&? HE'H\ ;*T‘El-



Reszpondents

5 x AR @ A

Tools for data collection

4%31‘#@@3?@@%
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What is a research design ?
ATHI e F 7

Options:
A way of conducting research that is not grounded in theory

1%a§ﬂmﬂﬁﬂﬂﬁ‘ﬂ1ﬁﬁ@ﬁﬁmﬁﬁﬂﬁg

The choice between using qualitative or quantitative methods

o % TS T4 ORHETUTCHS Tgiadl &1 TR $HY- & 9" faded

The style in which you present your research findings, e. g. a graph

5 % Joit fSTEH 31T SIT e e sieid T BT Igd BYd ©

A framework for every stage of the collection and analysis of data

4 o ATBST & AT T HIE & FAD YA TG Il
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

It a study is "reliable”, this means that :
Ofe gy fdgaa-my é’ s Hod g b

Options:
It was conducted by a reputed researcher who can be trusted

IE Hidfted SHeGal g &1 Widl 2 o WX faward fear o ¥aar €

1 &

The measures devised for concepts are stable on ditferent occasions

, o SRS o Bferd Surr fafi= sraest w Rer 2@ @



The findings can be generalized to other social settings
o [TSRY DI 3 WAME TR & fu aeriigd fBar o wear 2

=3
The methods are stated clearlv enough tor the research to be replicated
A% I B ufadfa {6 o 2q usfaal o1 W w | udid qardr 147 2
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Ethical norms in research does nof involve guidelines for which of the following ?
ST J Aifquwes JE J e H fege fou feen-fae wide 98 @ ?

Options:

Thesis Format

L  JE HaE U

Copvright
o % PHNIEC

Patenting policy

5 % NoC

Data sharing policy

4 % \_,E [_,l \]\*-l-q“] ;” k
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

_________________ is not a source of Hypothesis.

_____________________ NI &1 Udh Hid 7&f 2 |
Options:
Intuition
. % Heul H[E
Knowledge

2IWEI'I_"T



Energy
3 '\‘:5? '-.?_. ATl

Theorvy

|

4 % 194
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following variables cannot be expressed in quantitative terms ?
Frefeiad 4 | (59 =R @1 AEHS sl 4 ad el fhdl ol dadl 8 7

Options:
Socio-economic status

| % HITSTS I Rerfd

Marital status

, x AT Refa

Numerical aptitude

2 arE el iR i

Professional aptitude

L % TIER AR
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is not a citation style ?
faefefag § 9 o9 s 3= faf 98f 2 ?

Options:
APA.

1@?0&[0:{0

MLA.
- UHo Uelo To



Chicago

b

5 % 1

Ohio

4 )
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following is not a defining characteristics of non-doctrinal research ?
frfefaa & & = fe-Haifas ol @ afveias @ 981 & 7
Options:

It is organized around legal principles and appellate court decisions.

= S

o5 fattes =t 3T AJAUeE SJEed & Al @ =9l aiw

It puts lesser emphasis upon doctrines.
, x T8 MmOl 9T HH 9o Gl B |

It seeks to answer broader and numerous questions.
, » 97 378 UFG S UL & ITY WA BB HIAT F |

It may involve the use of research tcn:r]s. and perspectives not pecu]mr to law.
SHH UHT 90e A AN GChvT Tgad 81 ol 5 511 Hdal did 96

4 % HITAT B B E |
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not true about positivism ?

frefafaa § 9 & vemefare (@fsfefes) & ddg § a2 78 2 ?

Options:

It is associated with Auguste Comte

| % TE I B B AT JST &

It denies metaphysical speculation

> % U ToauIHIGD ChHAdToll B gae dYdl @




It emphasises on objectivity

. % I8 TR W WR < g

It is a method used in qualitative research

, U8 U faf & Fordet JarT T[umedes 9 H gl g
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Question Number : 41 Question Id : 7622116641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

[et R and S be two relations with the following schema
E:(P,Q,Rl,R2, R3)

5: (P, Q, 51,52)

where, {P, Q} is the key for both schemas. Which of the following queries are
equivalent?

L I, (R < S)

IL I, (R) b I, (S)

P
I I (Ip,5 (R) N Ip,5 (S)
IV. [Ip(Ip,s (R)-(Ip,5 (R)-IIp,n (5))

Options:

| % Only I and II

5 % Only I and III



5 ® Only I, IT and III

4 Onlv I, ITT and IV

Question Number : 42 Question Id : 7622116642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1

Question Label ; Multiple Choice Guestion
Consider the relational schema given below, where eld of the relation dependent
is a foreign key referring to empld of the relation employee. Assume that every
emplovee has at least one associated dependent in the dependent relation.

employee (empld, empName, empAge)
dependent{dEpId, eld, depName, depAge)
Consider the following relational algebra query :

IT empld {EII‘LP]D‘_R,’EE) e L Empld{EﬂlplD}'E'E # (empld=eld)~ (empAge < depAge) de]]ET"dent:'

The above query evaluates to the set of emplds of employees whose age is
greater than that of

Options:

| % s01me dE‘PE‘I'ldEI'lt.

s all dependents
some of his/her dependents

4 all of his/her dependents

Question Number : 43 Question Id : 7622116643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Let R (A, B, C, D, E, P, G) be a relational schema in which the following
functional dependencies are known to hold : AB—+ CD,DE—-P,C—=E,P—=C
and B — G. The relational schema R is :

Options:

| % inBCNF

5 % in 3NF, but not in BCNF

3 not in 2INF



L% in 2NF, but not in 3NF

Question Number : 44 Question Id : 7622116644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Database table by name Loan_Records is given below :

Borrower Bank Manager Loan Amount
Ramesh Sunderajan 10000.00
Suresh Ramgopal 5000.00
Mahesh Sunderajan 7000.00

What is the output of the following SQL query ?
SELECT COUNT(*)
FROM ((SELECT Borrower, Eaul-:_?vianager FROM Loan_Records) AS S

NATURAL JOIN (SELECT Eank_h-‘[anager, Loan. Amount FROM
Loan_Records) AS T);

Options:

3

1. %

i
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uestion Label - Multiple Choice Cuestion



Consider the following relational schema:
EmploveeDetail (Empld, FullName, ManagerID, DateotJoining)
EmployeeSalary (EmplD, Project, Salary)
Consider the following relational query on the above database:
SELECT Salary
FROM EmployeeSalary Empl
WHERE 2=(
SELECT COUNT( DISTINCT ( Emp?2 Salary))
FROM EmployveeSalary Emp?2
WHERE Emp?2 Salary > Empl. Salary
)

Assume that relations corresponding to the above schema are not empty. Which
one of the following is the correct interpretation of the above query ?

Options:
| % tind the highest salary from table

o % tind the 2nd highest salary from table

3 find the 3rd highest salary from table

4, % none of the three

Question Number : 46 Question Id : 7622116646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

It the frame to be transmitted is 1101011011 and the CRC polynomial to be used

for generating checksum is x4+ x + 1, then what is the transmitted frame ?

Options:
| % 11010110111011
o % 11010110111101

3 o 11010110111110

4 % 11010110111001
Question Number : 47 Question Id : 7622116647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Station A uses 32 byte packets to transmit messages to Station B using a sliding
window protocol. The round trip time delay between A and B is 40 ms and the
bottleneck bandwidth on the path A and B is 64 kbps. What is the optimal
window size that A should use ?

Options:

1.% a3

o 10

s % 40

. % 30

Question Number : 48 Question Id : 7622116648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Host X has IP address 192.168.1.97 and is connected through two routers Rl and
R2 to another host Y with IP address 192.163.1.80. Router Rl has IP addresses
19216581135 and 19216811100 R2 has IP addresses 192165167 and

192 165.1.155. The netmask used in the network is 255.255.255.224

Given the information abowve, how many distinct subnetz are guaranteed to

already exist in the network ?

Options:

1.%‘?@'ltl

[+

(%]
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



Consider different activities related to email :

ml : Send an email from a mail client to a mail server

m?2 : Download an email from mailbox server to a mail client
m3 : Checking email in a web browser

Which is the application level protocol used in each activity ?

Options:

. ml : HTTP m?2: SMTP m3: POP
1.

o ml : SMTP m?2: FTP m3: HTTP
2.

> ml : SMTP m?2: POP m3: HTTP
=

4% ml : POP m?2: SMTP m3 : IMAP

Question Number : 50 Question Id : 7622116650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Classless Inter-domain Routing (CIDR) receives a packet with address
131.23.151.76. The router's routing table has the following entries :

Prefix Qutput Interface Identifier

13116.0.0/12 3

131.2500/14

[y

131.190.0/16

]

131.2200/15 1

The identifier of the output interface on which this packet will be forwarded is

Options:

1_\4—1



]|

Question Number : 51 Question Id : 7622116651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

What will be the output (in decimal) of following arithmetic operations (+70) +
(+30) and (-70) + (-80) with binary numbers in signed-2's complement
representation. Use eight bits to accommodate each number together with sign
bit.

Options:

| % +106 and -106

>  -106 and +106
z # +150and -150

, % -150 and +150

Question Number : 52 Question Id : 7622116652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1

Cuestion Label : Multiple Choice Guestion

The content of a 4-bit register is initially 1101. The register is shifted six times to
the right with serial input being 101101. What is the content of the register now ?

Options:
. 1011

, 1101

- % 0000

, % 0110

Question Number : 53 Question Id : 7622116653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Simplification of Boolean function F(A, B, C, D) = X(0,2,4,5,6,7,8,10,13,15) is :

r

Options:



| % CD+BD + A'D

o % BD + BD'+ A'C

3 & BD+BD'+A'B

4 % None of the three

Question Number : 54 Question Id : 7622116654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

A digital computer has memory unit ot 64Kx16 and a cache memory of size 1K
words. The cache uses direct mapping with a block size of four words. How
many bits are there in tag, block and word fields.

Options:

g W

Question Number : 55 Question Id : 7622116655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The Boolean function with the Karnaugh map

AB
C 00 01 11 10
00 0 1 1 0
01 0 | 1 1
11 1 1 1 1|
10 0 1 1 0
182
Options:
(A+C).D+B

1. ¥
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is the Boolean expression for the output f of the combinational logic circuit

of NOR gates given below ?

P
Q

—

07
:

=0

Options:

| % (P+R)" + Q

. % (P+Q) + R

(P+Q+R)
3 v

L% P+(Q+R)
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Juestion Label - Multiple CThoice Cuestion



Which of the following is correct about the statements given below :
I : All operators can be overloaded in C++.

IT : We can change the basic meaning of an operator in C++.

Options:

| % Only I is true

5 o Both I and II are false
2 % Only II is true

Both I and II are true
4 ®
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which software testing is the re-execution of some subset of tests that have
already been conducted to ensure the changes that are not propagated ?

Options:
, ®» Unittesting

5 Regression testing

2 % Integration testing

Thread-based testing

Question Number : 59 Question Id : 7622116659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is used for implementing the changes in existing or new requirements of
user in software maintenance ?
Options:

| % Preventive maintenance

o Perfective maintenance



5 % Corrective maintenance

4% Adaptive maintenance

Question Number : 60 Question Id : 7622116660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What will happen if a class is not having any name ?
Options:
1% It cannot have a destructor

o % It cannot have a constructor

5 % ltis not allowed

4 Both (1) and (2)

Question Number : 61 Question Id : 7622116661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

In a binary tree with n nodes, every node has an odd number of descendants.
Every node is considered to be its own descendant. What is the number of nodes

in the tree that have exactly one child ?

Options:
1. ¢ 5
z ® ’
5 x (01)/2
4 ® 2n+l-1

Question Number : 62 Question Id : 7622116662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Let X be a problem that belongs to the class NP. Then which one of the tollowing
is TRUE ?

Options:



| % There is no polynomial time algorithm for X

If X can be solved deterministically in polynomial time, then P = NP
2 @ If X is NP-hard, then it is NP-complete

4% X mav be undecidable

Question Number : 63 Question Id : 7622116663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The rumning time of an algorithm is represented by the following recurrence

relation :
T(n) =n, ifn<=3
T(n) = T(n/3) + cn, otherwise

Which one of the following represents the time complexity of the algorithm ?

Options:

| & O (1)

. % @ (n log n)

_ @ (n?)

L% © (3n log n)

Question Number : 64 Question Id : 7622116664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The result of evaluating the postfix expression 546+7493/+%is ?
Options:

| % 600



[
(w5
[®8]
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Depth First Search is equivalent to which of the traversal in the Binary Trees ?

Options:

| & Pre-order Traversal

5 % Post-order Traversal

5 ® Level-arder Traversal

4 % In-order Traversal

Question Number : 66 Question Id : 7622116666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which one of the following is TRUE for any simple connected undirected graph
with more than 2 vertices ?
Options:

| ® No two vertices have the same degree

5 At least two vertices have the same degree

3 ® At least three vertices have the same degree

4% All vertices have the same degree

Question Number : 67 Question Id : 7622116667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Guestion

What is the number of swaps required to sort n elements using selection sort, in
the worst case ?

Options:

n G(n)



o ® O (n log n)

2 % O(n?)

4% O(logn)

Question Number : 68 Question Id : 7622116668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The pre-order traversal sequence of a binary search tree is 30, 20, 10, 15, 25, 23,
39, 35, 42. Which one of the following is the post-order traversal sequence of the
same  tree ?

Options:

. % 10,20,15

E

Question Number : 69 Question Id : 7622116669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

What will be the output of following source code :

int main()
int 1;
= R
printf("i = %d\n", i);
getchar();

return 0;

}

Options:
| % Error



Question Number : 70 Question Id : 7622116670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

What wiill be the output of following source code :

int main()

{
float a[]={ 13.5,1.5,2.4
float %,*k;

6.3,3.2):

f r

j=a+3;

k=1-2;

printf("%f %f %d %f',*,*k -k, 5-*k);
return O;

}

Options:

Question Number : 71 Question Id : 7622116671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

What will the function rewind() do ?

Options:

. Reposition the file pointer to a character reverse.
1.



b % Reposition the file pointer stream to end of file.

- Reposition the file pointer to beginning of that line.

L Reposzition the file pointer to beginning of file.

Question Number : 72 Question Id : 7622116672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

What does the following declaration mean ?
int ("ptr)[ 10];

Options:
| % ptris array of pointers to 10 integers

5 ptr 1= a pDintE-r to an array of 10 integerz

3 ® ptris an array of 10 integers

ptr iz an pr::i:nter to array

Question Number : 73 Question Id : 7622116673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The correct syntax to use typedef for structure is :

Options:
typedef struct temp
1

it a;
| % } TEMP;

typedef struct
{

mt a;

, % ITEMP;



struct te mp

{
mt a;
b

5 ® typedef struct temp TEMP;

4 all of the three

Question Number : 74 Question Id : 7622116674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

What is the output of this C code ?

FIY

int main()
i
intx=1;
int v = x == 1 ? getchar(): 2;
printf("%d\n", y);

return 0;

}

Options:
| % C Dl‘ﬂplll? fime error

5 % Whatever character getchar() function returns

2 ASCII value of character getchar() function returns

]

Question Number : 75 Question Id : 7622116675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Comment on the fr:zllcmriug tiwo ﬂpE‘l‘ﬂtiD‘l“LS.
int *af} = {{1,.2, 3}..{1,2.3.4}}; 1



Options:
| % 1 will work, 2 will not

1 and 2, both will work
o ®

1 won't work, 2 will work
3

4% Neither of them will work

Question Number : 76 Question Id : 7622116676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following statement(s) is/are correct ?

I The value stored in the CPU register can always be accessed faster than that
stored in memory.

II A register storage class variable will always be stored in a CPU register.

Options:
; « OnlyIis correct

- Only II is correct

= % BothI& IT are correct

4, % BothI& Il are incorrect

Question Number : 77 Question Id : 7622116677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

What is the output of the following program

int main(){
register int a=10;
int *p;
p=¢za;

printf("%ou”,p);
return 0;

}

Options:



. Compiler Error

5 % Address of a

3. ® 10

4% None of the three

Question Number : 78 Question Id : 7622116678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

The complexity class P consists of all the decision problems that can be solved by
______________ 115ing pD]'},‘i‘LDlﬂjal amount of cnmputatinﬂ titne.

Options:
| % Push Down automata

, x DFA

- » NDFA

4 Deterministic T'Lll‘lilg machine
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The ratio of number of input to the number of output in a mealy machine can be
gi\'en as :

Options:

1.*&—*"1

o x T n+l

- % n+1:n

“ None of the three
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ouestion Label : Multiple Choice Question

Consider X and Y are two languages over alphabet {0, 1} represented by regular
expression 0%(10%)* and (0" + 1 *)* respectively. Which of the following is true ?

Options:

| % X is proper subset of Y

, Y is proper subset of X

5 @ =Y

" None of the three
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

An LALR(]) parser for a grammar 'G’ can have shitt-reduce (5-R) conflicts if and
only if :
Options:

| % the SLR(1) parser for G has 5-R conflicts

5 % the LR(0) parser for G has 5-R conflicts

- the LR(1) parser for G has S5-R contlicts

4 % the LALR(]) parser for G has reduce-reduce conflicts

Question Number : 82 Question Id : 7622116682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Consider the translation scheme showmn belaw
S— TR
R— +Tiprint(+);}R | ¢
T — num {print (num.val);}

Here num is a token that reprezentz a1 i_nteger and num.val reprezenta the
corresponding integer value. For an input string '9+5+2’, this translation scheme
will print

Options:

| ® 9+5+2



Question Number : 83 Question Id : 7622116683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The number of tokens in the following C statement is printf("i=%d, &i=%x", i&i);

Options:

&
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

The grammar A — AA | (A) | E is not suitable for predictive-parsing because
the grammar is

Options:

| % Ambiguous

o Left recursive

- % Right recursive

L% An operator grammar
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Cuestion Label : Multiple Choice Question



uppose there are six files F1, F2, F3, F4, F5, F6 with corresponding sizes 150 KB,
25 KB, 75 KB, 60 KB, 275 KB and 65 KB respectively. The files are to be stored
on a sequential device in such a way that optimizes access time. In what order
should the files be stored ?

Options:
, % F5 F2Fl F3 Fo, F4

[~ N

r

. » F1,F2, F3 F4 F5 Fo

/ ] ¥ -y
. » F4,F6 F3,FLF2 F5

, % F6,F5 F4 F3 F2 Fl
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Cuestion Label @ Multiple Choice Question

If the disk head is located initially at 32, find the number of disk moves required
with FCFS if the disk queue of I/0 blocks requests are 98, 37, 14, 124, 65, 67.

Options:
| ® 239
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Cuestion Label @ Multiple Choice Question

Page fault frequency in an operating system is reduced when the :

Options:
& processes tend to be of an equal ratio of the I/O-bound and CPU-bound
% size of pages i5 increased

3 locality of reference is applicable to the process

, w Processes tend to be CPU-bound
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Cuestion Label : Multiple Choice Question

Consider the following C program.
#include<stdio h>
struct Qurnode
char x,v,z;
L
int maint(){
struct Oumode p ={'1','0', 'a’+2};
struct Oumode *q = &p;
printf("%c, %c”, *((char*)g+1), *((char®)g+2));

return 0;

'

The output of this program is :

Options:
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Cesticon Label ;- Multiple Choice Question

A three dimensional array in 'C’ is declared as int A[ x] [v][ z]. Here, the address
of an item at the location A[pl[g][r] can be computed as follows (where w is the
word length of an integer) :

Options:

; » &A[OJ[0][0]+w(y*z*q+z"p +1)

5 o SALIO0w(y "z p+zTq+1)



5 % EZAO]O]0+w(x*y*p+z g +1)

4 % &A[O][O][0]+w(x* v*q + z'p + 1)
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Juestion Label : Multiple Choice Question

In general, in a recursive and non-recursive implementation of a problem
(program) :
Options:

Both time and space complexities are better in recursive than in non-

1 % recursive prograim.

Both time and space complexitiez are better in non-recursive than in
recursive program.

Time complexity is better in recursive version but space complexity is better
in non-recursive version of the program.

Space complexity is better in recursive version but time complexity is better

4 % in non- recursive version of the program.
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Couesticon Label ;- Multiple Choice Question

Consider the following directed graph :

(b))
(a) 9
Oma0

The number of ditferent topological orderings of the wvertices of the graph

Options:

1.9 .



[y
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Juestion Label - Multiple Choice Cuestion

Consider the graph given below

Use Kruskal's algorithm to find a minimal spanning tree tor the graph. The List
of the edges of the tree in the order in which they are chozen is ? (1) AD, AE, AG,
GC, GB, BF (2) GC, GB, BE, GA, AD, AE (3) GC, AD, GB, GA, BE, AE (4) AD, AG,
GC, AE, GB, BF

Options:

5 x D)

s v D,2,06),®
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Cesticon Label ;- Multiple Choice Question

Frequency of failure and network recovery time after a tailure are measures of

the ............ of anetwork.

Options:
| % Performance

5 o Reliability



5 % Security

4 w Feasibility
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Cesticon Label ;- Multiple Choice Question

A channel has a bit rate of 4 kbps and one-way propagation delay of 20 ms. The
channel wuses stop and wait protocol. The transmission time of the
acknowledgement frame is negligible. To get a channel efficiency of at least 50%,
the minimum frame size should be :

Options:

| ® 80 bytes

2 ® 160 bytes

4 160 hits
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Cuestion Label : Multiple Choice Question

Which of the given wireless technologies used in 10T, consumes the least amount

of power ?

Options:

| % Zighee

5 Bluetooth
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Cuestion Label @ Multiple Choice Question



A company needs to develop digital signal processing software for one of its
newest inventions. The software is expected to have 40000 lines of code. The
company needs to determine the effort in person-months needed to develop this
software using the basic COCOMO model. The multiplicative factor for this
model is given as 2.8 for the software development on embedded
systems, while the exponentiation factor is given as 1.20. What is the estimated
effort in person - months ?

Options:
3/ =
1 o EJ—L.E_‘J

932.50
» 237.30

% 12240
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Juestion Label : Multiple Choice Question

A server crashes on the average once in 30 days, that is, the Mean Time Between
Failures (MTBF) is 30 days. When this happens, it takes 12 hours to reboot it, that
is, the Mean Time to Repair (MTTR) is 12 hours. The availability of server with
these reliability data values is approximately :

Options:

| x 963
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Cuestion Label : Multiple Choice Question

1e height of a binary tree is the maximum number of edees in anv root to leaf
The height of a binary t tl ber of ed v root to leaf
path. The maximum number of nodes in a binary tree of height /1 is :

Options:
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Cesticon Label ;- Multiple Choice Question

Which of the following is/are true ?

Options:

calloc() allocates the memory and also initializes the allocated memory to
zero, while memory allocated using malloc() has random data.

malloc () and memset() can be used to get the same effect as calloc().

. calloc() takes two arguments, but malloc() takes only 1 argument.
2 _

4 all of the three
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Cesticon Label ;- Multiple Choice Question

In case of using abstract class or function overloading, which function is
supposed to be called first ?

Options:

| % Local function

o Function with highest priority in compiler

Global function
3 ®

Function with lowest priority because it might have been halted since long

4% time, because of low priority



